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1 RIT A =< 0.0lmg1 HAT MK KO102 55
BT At AART 28I K0102 38 (38.1.1 D iEAERRL)
AT 49 BREE 64 513 1, AARTSERS K0102 31.1
AREY A At DHAZ v~ 7T TEISNDED (RAF LT A R
bHoTIE, W49 BEH 64 515 2)
& =< 0.01mg1 HAT RIS KO0102 54
AV iZA=NN =< 0.05mg/L HAT 20 K0102 65.2
OF# =< 0.01mg/L HATZERIS K0102 61
FakER = 0.0005mg 1 | HHEFN 46 BREER 59 113 1
T VR IVKER At EFD 46 BRI5HE 59 51713 2, HEFI 49 B 64 515K 3
PCB AKRH WFD 46 BREEEE 59 513 3
ZA=2=5 % 2 = 0.02mg 1 HART 2k K0125 5.1, 5.2, 5.3.2
It e < 0.002mg 1 | AT K0125 5.1, 5.2, 5.3.1, 54.1, 55
12-v/nuxiy = 0.004mg 1 | HATZEHHE K0125 5.1, 5.2, 5.3.1, 5.3.2
1,1-v/raxFL = 0.02mg 1 AART 20 K0125 5.1, 5.2, 5.3.2
vA-12-V7mnnxTF Ly | = 0.04mg 1 HART 2k K0125 5.1, 5.2, 5.3.2
LL,I-h)zaaxxy = Img/1 HAT 2k K0125 5.1, 5.2, 5.3.1, 5.4.1. 5.5
1,12- RV vmpoxXz = 0.006mg1 | HATZEHK K125 5.1, 52, 5.3.1, 54.1, 5.5
A== P2 =< 0.03mg 1 AATZEHM K0125 5.1, 52, 5.3.1, 5.4.1, 5.5
FRhIFranpzFLv = 0.01mg1 HART 2k K0125 5.1, 5.2, 5.3.1, 5.4.1, 5.5
1,3-U7uanray = 0.002mg 1 | HARTZES K0125 5.1, 5.2, 5.3.1
FIT A = 0.006mg 1 | WEF1 46 BREER 59 S5 4
D A = 0.003mg 1 | WHEFN 46 BREEH 59 12 5 55 1, £ 2
FA_ BT =< 0.02mg1 PFN 46 BRE55E 59 B 55 1, 2
A2 = 0.01mg1 HART 2k K0125 5.1, 5.2, 5.3.2
Ly = 00Img/1 | FAATIEHIE K0102 67.2, 67.3, 674
SR = 0.8mg/1 ?',ﬂﬁléé%g S SeEiR ?%%fuié%ﬁfﬁ%ﬁg ;
EES =< Img/1 HART 2k K0102 47.1, 47.3, 474
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